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Section A

Choose the correct answer from the following. (IMx11=11M)

The chlorophyll — containing partner in lichens is
a) alga b) fungus c) bacterium d) parasite

[1]

Which one of these is not an activity of fungi?
a) Spoiling food c¢) Causing disease in plants and animals
b) Preparing medicines d) Preparing food from inorganic substance

[1]

Which one is a saprophytic organism?
a) Pitcher plant b) Cuscuta ¢) Mushroom d) Neem plant

[1]

A solution used to test the presence of starch in a leaf is :
a) alcohol b) water ¢) sugar solution d) iodine solution

[1]

Starfish feeds on animals covered by hard shells of
a) calcium sulphate c) calcium nitrate
b) calcium hydrate d) calcium carbonate

[1]

The bile juice which helps in digestion of fats is stored in a sac called
a) liver b) stomach c) gall bladder d) rectum

[1]

What kind of teeth are used in piercing and tearing?
a) Canines b) Incisors c) Molars d) Pre - molars

[1]

In case of , the cool air moves from the land towards the sea.
a) land breeze b) sea breeze c) ice breeze d) sand breeze

[1]

A marble tile would feel cold as compared to a wooden tile on a winter morning, because the
marble tile

a) is polished while wooden tile is not polished

b) is a poor conductor of heat than the wooden tile

c) reflects more heat than wooden tile

d) is a better conductor of heat than the wooden tile

[1]

10

Assertion: Inthe cells, glucose breaks down with the help of oxygen into carbon dioxide and
water, and energy is released.

Reason: The food that remains undigested and unabsorbed enters into the anus.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.

c) Ais true but Ris false.

d) A is false but R is true.

[1]

11

Assertion (A): Water can also be used instead of mercury in thermometer.
Reason (R): Water has high freezing point and low boiling point.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.

c) Ais true but R is false.

d) A is false but Ris true.

[1]

Section B (2M x 4 = 8M)

12

Draw a labelled diagram of cross section of leaf.

[2]

13

Fill in the blanks with the appropriate raw materials essential for photosynthesis based on where
or when they are available.

[2]




1. Available in the plant :
2. Available in the soll : ,
3. Auvailable in the air :

14 | Can we survive only on raw,ergetables/grass? Discuss. [2]
15 | Write two points of difference between conduction and radiation. [2]
SectionC (BM x4 =12M)
16 | Give a brief description of the process of synthesis of food in green plants. [3]
17 | Distinguish between a parasite and a saprotroph. [3]
18 | Explain the various types of teeth in human beings. [3]
19 | Write the precautions to be observed while using a clinical thermometer. [3]
SectionD 4Mx1=4M)
20 Ques@ion No. 20 Ato C are based on the given text. Read the text carefully and answer the | [5]
questions:
Step 1 - Prepare a separate sample each of sugar solution, common salt solution, lemon juice,
juice of crushed neem leaf or bitter gourd.
Step 2 - With ablindfold take out the tongue and keep it in a straight and flat position.
Step 3 - Use a clean toothpick to put the above samples one by one on different areas of the
tongue.
Step4 - Use a new toothpick for each sample and detect which are taste as sweet, salty, sour
and bitter substances.
' D
A
B
i >0
A | Which of the following region detects sugar solution and which region detects lemon juice? [1]
a)D b) A c)C d) B
B | Write the functions of the tongue? [2]
Tongue is a fleshy muscular organ attached at the back to the floor of [1]
SectionE (5M x1=5M)
21 a) How does the heat travel in air? [2]
b) Explain the sea breeze and land breeze in coastal areas in this reference. [3]
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ATOMIC ENERGY CENTRAL SCHOOL NO. 2, MUMBAI
PERIODIC TEST-I 2024-25

CLASS VII MATHEMATICS DATE:22.07.24

Time Allowed : 90 mins

Maximum Marks : 40

General Instructions:

This question paper has four sections. Section A has 15 MCQs carrying 1 mark each. Section B has 6

questions carrying 2 marks each. Section C has 3 questions carrying 3 marks each. Section D has 1 question
carrying 4 marks.

10

11

12

(i)

Section A

Find a number that is 3 more than - 9.
a) 12 b) 6 c)5 d)- 6

(- 16)+ 4 is not same as
a)- (16=4) b)16=(-4) c)(-4)+16 d)-4

The value of 5+ (- 1) does not liec between
a)0and- 10 b)-6and6 <c)-4and- 15 d)0Oand 10

- 35% 107 is not same as

a)(-30-5x107 Db)(-35)x7+(-35x100 <c¢)-35x7+100 d)-35x(100+7)

(- 11)x 7 is not equal to
a)- (11x7) b)y7x(-11) ¢)11x(-7) d)(- 1D)x (- 7)

The product of a rational number and Its reciprocal is always equal to
a)0 b) 1 c)—1 d) 2

A ribbon of length 5% m is cut into small pieces each of length % m. Number of pieces will be:

a)7 b) 8 c) 6 d)5

A farmer has 192 animals, out of which116 are cattles. g of cattles are dairy cows. How many

dairy cows he has?
a) 56 b) 84 c) 112 d) 128

If the mean of 13, 17, 18, 20, x and 9 is 16 then find the value of x.
a) 16 b) 18 c) 20 d) 19

Find the range of the following set 70, 61, 63, 60, 69, 68, 55, 72, 40
a) 62 b) 74 c) 40 d) 55

The median of the data: 3,4,5,6,7,3,4is
a) 4 b) 3 c) 6 d)5

Question No. i to iv are based on the given text. Read the text carefully and answer the
guestions:

The heights of 10 girls were measured in cm and the results are as follows:
135,150,139,128,151,132,146,149,143,141

The range of the data is

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[4]



(ii)

(i)

(iv)

13

14
15

16
17

18

19

20

21

22

What is the mean height of the girls?
a) 164.4 b) 154 c) 151.4 d) 141.4
How many girls have heights less than the mean height?

a) 6 girls b) 3 girls c) 5 girls d) 4 girls

The height of the shortest girl is
Section B

Find the average of 4.2, 7.6 and 9.8.

Write two integers which are greater than - 10 but their sum is smaller than - 10.

A shopkeeper earns a profit ofX 1 by selling one pen and incurs a loss of 40 paise per pencil
while selling pencils of her old stock. In the next month she earns neither profit nor loss. If she
sold 70 pens, how many pencils did she sell?
Kavita had a piece of rope of length 9.5 m. She needed some small pieces of rope of length 1.9
m each. How many pieces of the required length will she get out of this rope?
Find:a) 128.9- 1000
b) 1.3x3.1

Use the bar graph to answer the following questions.

1. Which is the most popular pet?

2. How many children have a dog as a pet?

12
10

Students

ON GO ®

Pet Animals

Section C

The temperature at 12 noon was 10°C above zero. If it decreases at the rate of 2°C per hour
until midnight, at which time would the temperature be 8°C degrees below zero? What would
temperature at midnight ?

The weight of an object on moon is 1/6" its weight on earth. If an object 5% kg on Earth. How
much would it weight on the moon?

The runs scored in a cricket match by 11 players is as follows: 6, 15, 120, 50, 100, 80, 10, 15,
8, 10, 15. Find the mean, mode and median of this data. Are the three same?
Section D

Number of children in six different classes are given below. Represent the data on a bar graph
and write the scale.

Class: SWNumber of Childremn
Fifth 135
Sixth 120
Sewventh a5
Eighth 100
MNHimntlh D0
Tenth 80

[2]

[2]
[2]

[2]
[2]
[2]

[3]

[3]

[3]

[4]
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Question numbers 1 to 16 are Multiple choice questions. Choose the correct option

1 was a fourteen - century chronicler [1]
a) Al-Idrisi b) Minhaj-i-Siraj ¢) Amir Khusrau d) James Mill

2 | Learned theologians and jurists were: [1]
a) Allah b) Ualaha c) Ulama d) Umea

3 | The worship of new deities, the construction of temples by royalty, and the growing [1]
importance of Brahmanas, the priests, as dominant groups in society were the important
changes that occur that we call today.
a) Patriotism b) Hinduism c) Hind d) Sadism

4 | Who was the ruler of a vast empire that stretched from Bengal (Gauda) in the east to Ghazni | [1]
(Gajjana) in Afghanistan in the west and included all of south India (Dravida)?
a) Chola b) Balban c) Tughlugs d) Akbar

5 had knowledge of Sanskrit texts, which made them respectable in the society. [1]
a) Jatis b) Brahmans c) Ahoms d) Shudras

6 | Two schools of Islam are: [1]
a) Hanafi and Shafi b) Hanafi and Sunni
c) Hanafi and Shia d) Hanafi and Ulama

7 | What makes the biosphere? [1]
a) Water kingdom only b) Animal kingdom only
c) Plant and water kingdom d) Plant and animal kingdom

8 | The changes in the atmosphere produce changes in the: [1]
a) soil and climate b) weather and climate
c) water and soil d) water and climate

9 | Environ meaning: [1]
a) Neighbourhood b) Plants c) Family d) Natural

10 | Why we should protect the environment? [1]

a) Itis our basic life support system
b) Many part of the environment are already secured by the excess use of resources
c) Most of the human activities protect the environment like deforestation

d) It provides us human resources




11 | Which is not a natural ecosystem? [1]
a) Forest b) lake c) Desert d) Aquarium
12 | Which is a threat to the environment? [1]
a) Growing Plant b) Growing crops
c) Growing population d) Growing Animals
13 | Rosa Parks was tired from a long day at work she refused to give up her seat on a bus to a [1]
white man on
a) On 11 December 1965
b) On 01 December 1945
c) On 01 December 1955
d) On 11 December 1975
14 | The two ways in which the government has tried to implement the equality that [1]
is
a) Law and Schemes b) Law and Protest
c) Protest and Strikes d) Law and Strikes
15 | Who was an African - American women who was an essential part of Civil Rights? [1]
a) Rose Perks b) Resa Porks
c) Rosa Parks d) Rasa Paroks
16 | When the Civil rights Act was passed? [1]
a) 1966
b) 1964
c) 1967
d) 1965
17 | How were the affairs of Jatis regulated? [3]
18 | Give reasons: [3]
1. Man modifies his environment.
2. Plants and animals depend on each other.
19 | What do you understand by the term all persons are equal before the law ? Why do you [3]
think it is important in a democracy?
20 | How do historians divide the past into periods? Do they face any problems in doing so? [5]
21 | How have human beings adapted to the environment to fulfil their needs? [5]

22

What are the provision made in the constitution for the recognition of equality?

[5]
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Section A (Reading)
1. Read the following passage and answer the questions that follow:
Cycling offers a range of economic and health benefits beginning from zero carbon emission to
reducing obesity. More and more people today have begun to rediscover cycling as a conscious
and sensible lifestyle choice. (Para 1)
Cycling can burn a bar of a chocolate in an hour. A quick 15-minute ride every day to workplace
can stimulate circulation and relieve stress, burning 6 kg of fat in a year. To fast-track fitness,
cycling up an incline is a fabulous way. One must also remember that riding a bicycle is a
symbol of simple living—a positive attitude towards a more fulfilling life. (Para 2)
Cycling can be fun too. The experience of cycling through the countryside can be exhilarating.
Imagine how rejuvenated you will feel cycling through mustard fields. (Para 3)
On the environment, cycling is less stressful. It is also a great way to avoid traffic. One is less
threatened by traffic congestion and ‘road rage’. Bicycle commuters are a happier lot. They get
less sick, therefore, are more productive workers. To squeeze exercise into an already busy day,
cycle to workplace. An average person can thus burn 300 to 400 calories per day. Stronger heart
and lungs, increased muscle mass and a less stressed constitution are what one gets in the
bargain. Wait, there’s more. It keeps one young as it can take 10 years off one’s actual age.
(Para 4)
On the basis of reading of the passage, answer the following questions: (5X1=5)
a. How does cycling benefit the environment?
b. How does cycling help in maintaining health?
c. How is the problem of traffic solved by cycling?
d. How does cycling help each of us to become better workers?
e. Find a word from the passage which means the same as ‘heaviness’. (para 1)
2. Read the following passage and answer the questions that follow:
The story goes that some time ago, a man punished his 3 year old daughter for wasting a roll of
gold wrapping paper. Money was tight and he became infuriated when the child tried to decorate
a box to put under the Christmas tree. Nevertheless, the little girl brought the gift to her father
the next morning and said, “This is for you, Daddy.” (Para 1)
The man was embarrassed by his earlier over reaction, but his anger flared again when he found
out the box was empty. He yelled at her, stating, “Don’t you know, when you give someone a
present, there is supposed to be something inside?” The little girl looked up at him with tears in
her eyes and cried, “Oh, Daddy, it’s not empty at all. I blew kisses into the box. They’re all for
you, Daddy.” (Para 2)
The father was crushed. He put his arms around his little girl and begged for her forgiveness.
Only a short time later, an accident took the life of the child. It is also told that her father kept
that gold box by his bed for many years and whenever he was discouraged, he would take out an
imaginary kiss and remember the love of the child who had put it there. (Para 3)
In a similar way, each one of us, has been given a gold container filled with unconditional love
and kisses from our children, family, friends and God. There is simply no other possession,
anyone could hold, more precious than this. (Para 4)
On the basis of reading of the passage, answer the following questions: (5X1=5)
a. Why did the father punish his daughter?
b. What did the girl give as a present to her father on Christmas?
c. Why did the father keep the gold box at his bedside?



d. What do we learn from this story?
e. Find a word from the passage which means the same as ‘angry’. (paral)

Section B Writing and Grammar (16 Marks)

3. Your school is organizing a trip to Mount Abu (Rajasthan) during the summer
holidays. As the Cultural Secretary of the school, draft a notice in not more than 50
words, giving all the necessary details. (4)

4. Read the following conversation carefully .

Ram: | am Ram, a friend of Mohan. Where is he ?

Sohan: He has gone to the market. Can I help you please ?

Ram: Oh, Sure. Please convey to him that today’s music classes shall remain
suspended because the teacher is not well. The same will be held on Sunday. Could
you please pass this message to him ?

Sohan: Oh ! Sure.

Ram: Thank you.

As Sohan is going to his tuition classes he needs to write the message for Mohan.
Write the message on his behalf. (4)

5. Fill in the blanks with appropriate forms (Noun/Verb) of the word given in
brackets: (4)

The said that only fresh evidence would make him change his
(judge)
It isn’t that should always be the mother of invention. (necessary)
Hermits are men. How they acquire their no one can tell. (wise)
Asking for is as noble as willingness to . (forgive)
6. Write the meaning of the following words and make sentences:- (2)

Faithful Forgive

7. Arrange the following words in the correct and meaningful sentence (2)
(i) Concerned / the poor / the untouchables / was / and / he / about
(i) Mind / it / sharp / makes / the / too

(a)
(b)

()
(d)
(€)
(f)

Section D (Literature)
8. Briefly answer ANY FIVE of the following questions:- (10)
How did the king and the hermit help the wounded man?
Did the wise men win the reward? If not, why not? Answer in the context of Three
Questions.
Why did bearded man ask for the king's forgiveness?
How long it does it take for a grub to become a complete ant?
Why do the worker ants carry the grubs about?
Mention the three things we can learn from the “tiny teachers”.
9. Answer the following questions in about 80 words (4)

What were the hermit’s answers to the three questions? Write each answer separately. Which
answer do you like most, and why?



